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Do not open this booklet until asked to do so...

RATIONALIST TALENT SEARCH EXAM 2019

STD: Il EURRR Roll No.

Date of Examination : 10 February 2019, Sunday
Tdeneffardt geA / Guidelines for the Candidate

1. T99 Yftaehdict Te U9 SIS AT el Fasem Wt e s,
Please make sure that all questions are printed properly in Question booklet or
not.

2. U AT & TRET SHATERTE ek UTsieh! (e TeaT=! W hied ST,

Check to make sure that you have received the appropriate answer sheet of your name and roll
number.

3. ufet g& guangd fageneat crrean |yut el et svaredt 30 fafe iften ae quamm
BECH

You will get additional 30 minutes to check and make sure about the information about
yourself on the Answer Sheet before the start of the exam.

4. FQR IYGRETRALE TRUT 100 T ST Tedeh TYHTS! 2 T[0T 37T
This question booklet contains 100 questions each question carries 2 marks.
5. ©d U9 AISiul STavash 3TE. Yehiedl ScIaege MaTeedl TN $Haeare! SRR T[0T Tl het
SATUTR AR,
All questions are compulsory. There is no negative marking.
6. oNUTATE T UG fERT oot Wl A T
Check to make sure that you have received the appropriate test booklet for your standard.
7. UATAHER hales Tehd Stal SNIsR AT, SNieR ISt Uhd

There is only one correct answer. Choose only one option for an answer.

8. eIl UH WIIUITaTS! eheles shiedl / THest T Sictu-=r o,
To mark your choice of answers by darkening the circles in the Answer Sheet, use a Blue/Black
Ball, Pen only.

Eg.

Q. x : - Fill in the blanks.

My father went..........ccevvecrrceneennes To buy some milk.

a) there b) their c) They're d) here

As the correct answer is option a) you must darken the circle corresponding To option a) in the Answer

Sheet as follows.
CORRECT METHOD WRONG METHOD

> @®OO®| [«x @GO W]
9. UReN HUCHTER gl ScUTIohT THALTERIEhE UXd Ul

Return the Answer Sheet to the invigilator at the end of the exam.

10. SATUET URET ShHTh TYTYREThar GEaT ToTgTal a Het TYgieceht URET ShicTaeiFaR e diad
11

Write your Roll No. on the Question Paper too and take it home for future reference.

Visit www.rtsexam.com for answer key after 8 days




10.

11.

12.

THHER T ITTeiled HEAWRT SATTAA 18R hIUTd ?
A) B) & C)®|

‘o S0’ A1 SRR 312 STt ?

A) SifeT ot B) U @O C) fre st
WeTeTieh! ATTea feTren 91sg <hIvTd ?

A) &= B) gHalt C) YgH
WICeTUeh! IS I15E ThIUTT ?

A) SEun B) aitea C) Helrg

‘ST o1 vTeaTen FHHT THT v1ea 37w ?

A) S5 B) ferre C) W&t
‘e’ A1 YTeqHR whivTa fermterg oo ?

A) TR B) TcUfoR™ C) IgTRI<IE
AR T TehT9T 357 fremet 2.

A) B B) 3Wierd C) TIRTIT

Identify the adverb in the given options:
Why are you always travelling?
A) Travelling B) Always C) Are

Choose the correct Spelling?
A) Train B) Tarin C) Tnair

Find the same meaning of the word written in capital letters.
SHUT
A) Open B) Start C) Close

Choose the antonym of the word written in capital letters.
ALMOST
A) Nearly B) Completely C) About

Find out the noun and circle the correct answer.
| Love my school
A)l B) Love C) School

D) a1

D) &k gIot

D) g1

D) wgea

D) &

D) You

D) Trian

D) all of these

D) None of these

D) My




13.

14.

15.

16.

17.

18.

19.

20.

21.

Prepare the meaningful word from the given letters.
Y,R,S,0,T
A) Sotry B) story C) sroty

Which one of the following is a preposition?
A) At B) In C) on

Find the rhyming word of SHINE.

A) Mine B) Rain C) Hen
YUY i3 WF 4 ?

A) SR B) =N C) TR
Where we shouldn’t play?

A) In park B) At home C) On road
WcHeTdeh! AieTa ST,

A) STEd B) UrcHft c) ™=
Which one of the following is a living thing?

A) flute B) pepsi C) Jeep
WefieTeh! SR THeie Thes ShiuTd ?

A) 3T7aT B) AW=IE C) T
Which one of the following is a seedless fruit?

A) Mongo B) Apple C) Orange

C) AerATett

A) Tiger B) Ant C) Bee
WTATAUh! ATeT 9158 SIS ?

A) T B) Wit C) ==
Find the odd one out.

A) Hospital B) mosque C) Church
Wi cTten! fasame |ut ShiuTdn ?

A) Bt B) ferwa C) feamest
Which one of the following is the festival of lights?

A) Holi B) Christmas C) Diwali

D) torsy

D) All of these

D) All of these

D) ATdh! FHdat el

D) None of these

D) &t

D) Elephant

D) ket

D) Banana

D) ISH

D) Frog

D) HER

D) Temple

D) 3%

D) Eid




23.

24.

25.

26.

27.

28.

A) RS B) SRTIH C) |

We make clothes from the ------------ plant.

A) Coconut B) Cotton C) Sugarcane
VRUITATS! ShITI AT ShedT ATl ?

A) TH B) 2% C) Hg,

Which one of the following is used to hear?

A) Nose B) Eyes C) Brain
@it g &/ guifea ?

A) TARGHT B) UNEC THE C) UTeAIE <iteht

Following Sign Indicates?

A) Hospital B) Post-office C) Police station

‘THA' UTSIAUATHTS! WTeieTdeh! ShoTrel TR T8d ?
A) TEE B) TFTUTeh/ FFger () forst

Which one of the following is not essential for sending an email.

A) Internet B) Computer C) Power

WIcieTteh! ShivTe fShTuft SFrwger /HTuTeh SToRe <1 2

A) ITd TAHE RELIEEE C) TR

In which one of the following places computers is used?
A) Railway station B) Air port C) Hospital

WTATCTUh! ShIUTAT higTerh Scadl AT ?

A) TR B) etz /= C) anefea™
Which one of these is not a family occasion?.

A) Langar B) Wedding C) Birthday
Wil ST STTu et ?

Which one of the following is Atal Bihari Vajapayee?

D) g

D) Wheat

D) &

D) Ears

D) ¥ TIH

D) Railway station

D) ¢

D) Telephone

D) afteTdht wel

D) All of these

D) dieat

D) pola




29.

30.

31.

32.

33.

34.

iefsTien ST SHeft e ?
A) R 3TFER B) & WG

Gandhiji was born on --------------
A) 2™ October

Wi icTten! Uifseeh Tared Shiurd ?

B) 26" January

C) §R 3TN

C) 12" October

Which one of the following is a healthy food?

I S e,
A) ‘o fafie = ¥30 Uehe
C) ¥ e =350 Ghe

Select the correct pair.
A) 7 minutes= 420 seconds
C) 4 minutes=260 seconds

WA TEAT &l ShuT oTal.
&9, R¢, ¢, LY, B¢

A) €, Uu, 9, 8¢, ¢

C) R¢, 9¢, §9, LY, 9

B)?ﬁﬁ?:&om

D) S4 A&

D) 15" August

D) ¢ fafe = ¥20 ke

B) 2 minutes= 60 seconds
D) 8 minutes=420 seconds

B) ¢, W4, &9, ©¢, 9
D) R¢, 39, ©¢, L4, Lo

Arrange the following numbers in ascending order.

67,28, 87,55, 78,
A) 67, 55, 87, 78, 28
C) 28, 78, 67, 55, 87

e fehdt ST ST ?

A) ¢ B) 4

Square has---------- sides.

A) 8 B) 5

200 % U T TRRA HIUT ?

A) ko0 %

C) 400 & AIMVT 4o &

Which amount is less than Rs 2007?
A) Rs 500

C) Rs 500 & Rs 50

——

B) 28, 55, 67, 78, 87
D) 28, 37, 78, 55, 87

C)3

)3

B) §00% 30T 4 0%
D) 000 ¥®

B) Rs 100 & Rs 50
D) Rs 1000

D) ¥

D)4




35.

36.

37.

38.

39.

40.

41.

WeteTdeh! foemerea v ?

A) <R B) R0 C) ¥
Out of the following which is the odd number?

A) 89 B) 90 C) 54
200 HAWER =—————- fiew?

A) % B) R0 C) Q00
200 Centimetre = ---------- metre?

A)1l B) 20 C) 200

WA TSR] hl F T el Ui (e,

49— 3%

A) uc B) 43 C) &%

Subtract the following numbers and select the correct option.
87 -34

A) 58 B) 53 C) 54

WA T 3T forgl.

HeATRTR

A) 0 B) ¢l C) &9

Write the following number in figure.
Seventy- seven

A) 77 B) 87 C) 67
WIeie HEATHTAT YUT .

2R, R, 3§, ¥, €0, e

A) &¢ B) 9 C) ¢

Complete the number pattern in the following question.

12, 24, 36, 48, 60,........
A) 68 B) 77 C) 87

(UHF + o ThE = | |9k | | TheR?

A%, § B) ¢, 9 C) %, .
8 units + 7 units= D Tens D units.
A)5,1 B)8,7 15

§0 & HF HeliHEA AW ATeeard Teehien fehdt & fHesdier ?

A)30% B)0% C)&o%

Share Rs 60 among 3 girls equally Each will get ................
A) Rs.30 B) Rs.20 C) Rs.60

D) e¢

D) 78

D)R

D) 2

D) 4§

D) 56

D) 0§

D) 76

D) bR

D) 72

D), ¢

D)7,8

D)go%®

D) Rs.10




WA 3 IS TIGA ATHTA TIgH i 3{ehl TEA1 TR hl ?
\9 0 k4

A) ¥o\9 B) 9%0 C) 0%l D) 9o%

Arrange the number cards so that they make smallest three digit number.

7 0 2

A) 407 B) 740 C) 047 D) 704
WrefieTdh gehren gata et

A)‘%>?? B)?\9>4 C)3?>Q D)b\o
Which one of the following options is incorrect?

A)9>2'1 B)27'>8 C)32>9 D)SO
WTeAIe ATl AT,

A) =& B) SITd ORECa D) s

Identity the picture given below.

A) Square B) Rectangle C) Triangle D) Line

Teh! ATSTSTT o faa® amam @ 3y feawm fordt steere gl ?

A)R B) ¥ C)« D)o

A week has 7 days. How many weeks are there in 35 days?

A)9 B) 4 )5 D)7
ATAUEA hIS 3R ?

A) H&8 B) TGS C) 3T D) BT
Where is Tajmahal situated?

A) Mumbai B) Lucknow C) Aurangabad D) Agra
WeAieTdeh! veft shioTdr ?

A) 3T B) STEac C) 9o D) ©Tq
Which one of the following is a bird?

A) Zebra B) Bear C) owl D) Snake




48.

49.

50.

51.

52.

53.

54,

55.

A) % B) ? C)3

Mango has ............ seed?

A) 1 B) 2 C)3

UL YIS —————————— 1 TR AT AT ?

A) TR B) T C) uroft
....... Is used for washing clothes?

A) Plastic B) Plants C) Water

USRS AT HIMITEA TRETUT 21 7

A) o€t B) Y& C) 380t

Clothes protect us from:

A) Cold B) Dust C) Heat

ST I16E A5G

A)gH B) T& C) TR

Select the odd one out.

A) Milk B) Curd C) Cheese

WIcTeh! AT Gel SieET.

Which one of the following is savitribai phule?

C)
HIUTE : TR 32 TAEA @ ?
A) U B) U C) B
Man: Nose :: Plant : ?
A) Leaves B) Roots C) Flowers
TG EIUTRT 907 <HI0TeT ?
A) gl B) Feet C) whiegt
Which one of the following is carnivorous animal?
A) Deer B) Elephant C) Fox
WreAeTdeh! e s 31@d ?
A) 2 B) & C) AF=E
Which one of the following is yellow?
A) Tomato B) Brinjal C) Apple

D) 3k

D) Many

D) USH

D) Rain

NEIGR EIRE]

D) All of these

D)

D) Bread

D) W

D) Fruits

D) &g

D) Lion

D) feiq.

D) Lemon




56.

57.

58.

59.

60.

61.

62.

63.

WieiteTdeh! ga forame shiut SR vreRd TEl ?

A) = B) SANRMIET C) el
Which one of the following cannot live without air?
A) Dog B) Railway C) Lock

ST 0T A= s ITERUTR ATEl S SATIUT UTuT) —

A) SO B) SITAT TTAA C) =Ia ¥ae
We cannot conserve water if we......... it.

A) Use B) Waste C) Taste
WA IeTieh! AT hHIvTd ?

A) TR B) T C) Hg.
Which one of the following is an internal organ?

A) Nose B) Hand C) Brain
WeTIeTieh! ShIUTAT TogTel Fid TSl ?

A) Teit B) 7% C) &g
Which one of the following is not a source of water?

A) Wells B) Truck C) Ocean
WeAeTaeh! ShIUTdT Web ATl ?

A) TS B) = C) 2o =
Which one of the following is not a game?

A) Chess B) Ludo C) Table tennis
WA TcTUeh! Ueft ShivTdT ?

A) s B) et C) =et
Which one of the following is a bird?

A) Giraffe B) Rhinoceros C) Horse

ATIEHT ASCETATEAT ST T FEUTAT ?

A) Sg HIRH B) form C) < 70T F
What do we call our national flag?

A) Vande mataram  B) Tricolour C) Jan gan man
TFE A ATSTATAT HATEEAT T TgUTTEA ?

A) ST SERLW C) 3ATtt

What will you call the mother of your father?

A) Grand father B) Sister C) Grand mother

MR ERIC

D) Clock

D) fuet

D) Drink

D) <hH

D) Ear

D) &l

D) River

D) St

D) flute

D) Vg™

D) Ostrich

D) Trezfuran

D) Father of the nation

NELG]

D) Grand Daughter




64.

65.

66.

67.

68.

69.

WATeTdeh! Taid g HEAT ST ?
3<%, 3u8, 34y, 3%, 3%¢
A) 3%¢ B) 34¥ C) 3«2

Which of the following numbers is the smallest ?
381,351,354,384,318

A) 318 B) 354 C) 351
RSB YT INEN ?

A) et B) STHARY C) I
Find the odd man out.

A) July B) January C) June
WTeAIcTUh! ShIUTd AR TR TRE fe8e ?

A)N B) S C)C
Which of following looks same in the mirror?

A)N B) S C)C
WA G TS hivTd ?

B) T[Tl C) HHS

A) Sunflower B) Rose C) Lotus
ThHebl 1T TS ?

A) Bt B) He5 C) e
Abananaisa ... ?

A) Flower B) Root C) Fruit
T UgT 3 YEIe g 37eh S5 ?

2’ ?0, ?’ QO, 3 —_—

A) %0, ¥ B) 30, ¥0 C) 30, %

Observe the pattern and find next two numbers?
1, 10, 2, 20, 3, ---,---

D) 3¢%

D) 381

D) |T=t

D) March

D) A

D) A

D) 3g

D) Marigold

D) s

D) Tree

D) ¥, %0

——
o
| —



70.

71.

72.

73.

74.

A) 40, 4 B) 30, 40 C) 30,4

STepeltiel ot U1 ?

Complete the figure pattern?

ALTO.....»

forTa sTreRd sTiesEn ?

Find the odd one out?

A) Q B) C) A

WIEITE SATHATANC FHISRIUTT TR SEAT HIN 2

A) B) & C) ¢

Count the total numbers of triangles in the following figure?

A) 7 B)5 C)8
________ o1 ufg=ama o€ Hud ?
A) SHETd B) fe@i= C) |r=t
The year ends in the month of---------------- ?
A) January B) December C) March
Weie 3Tl fohelt axdes 3T,
-0
O O O
Oo00C
A) 2% B) g0 C) g2
How many circles are there in the figure?
€)L)
O O O
OoC
A) 14 B) 10 C) 12

10

——

A) B) Q Q) O

D) 4, 40

D) &

D)6

D) April

D) %3

D) 13

'



g4 helt SrerTer Aai ?

A) ATt B) TehTeA! C) T D) ATehTeA!
When is the sun overhead?
A) Afternoon B) Morning C) Night D) Evening

Wil AT TP reaT STt AUTRT 375k ShiUTaT ?

R|& | ¢
4 3§
¥ 3|7
A) ¥ B) & )R D)3

In the question find the alternative number at place of question mark?

9/6 |8

5(3|6

4 | 3|7
A) 4 B) 5 C)2 D) 3
TIeTA A SHUTRY SATehelt FHaeT ?

Find the odd figure out.

A) B) A C) D)

ISITHcATeh {a ShivTeT Afg=ATd ETSRT Shedl STdl ?

A) AT B) UReR ok:| D) aTdt
Name the month in which Republic Day is celebrated?

A) August B) September C) May D) January
UPATIgTea AT SRIVTA AT ASe ?

Which figure will replace the question mark?

O
AR B

11

——
| —



80.

81.

82.

83.

A) R:40 B) 0:0% C) %0:%0
What is the time shown by the clock?

A) 2:50 B) 10:05 C) 10:10
WA SAThetier AT T fehet ?
A) & B) ¥ C)e

How many rectangles are in the following figure?

A) 6 B) 4 Q)7
TETd 7 STEUIR Ug Ao,

A) gt B) 4 C) et

Find the term that does not belongs to the groups?

A) Earth B) Sun C) Geography
factean e s et e

HERTS, 55, AERTUT

A) WA B) TR C) ga13

Find the term that belongs to the given groups.
Maharashtra, Kerala, Telangana
A) India B) Nagpur C) Mumbai

12

D) g0:34

D) 10:15

D) ¢

D)8

D) =g

D) Moon

D) TIREE

D) Jharkhand

——
| —



84.

85.

86.

87.

88.

89.

90.

WA STt fehet ST 3T 2

A) ¢ B) 9 C) &

How many sides does the following shape have?

A) 8 B) 7 C)6
WICHIdh! ShivT TS el ?

A) =t B) 6T C) 3R
Which of these animals lays eggs?

A) Horse B) Eagle C) Mouse
HERTSTA Ueput fehedt foreg ommea ?

A) 3% B) 34 C) 3%

How many districts are there in Maharashtra?

A) 36 B) 35 C) 34

HERTEE & FEU ShIvTAT fea® AN hedl Sl ?

A) g6 AR B) S4 T C) € THaW
Which day is celebrated as the Maharashtra day?

A) 17" September  B) 15" August C) 26" January

HERTSCTAe wata 39 fSehtot shivren f3hmof e ?

A) T=TE B) HETEAYeR C) hBHATE
Which one is the highest Point in Maharashtra?

A) Raigad B) Mahabaleshwar  C) Kalsubai
HERTSCTR TSTUTE ShivT 37T ?

A) Hi.FETRTE  B) SR VMR C) TAE WU

Who is the governor of Maharashtra?

D) &

D)5

D) gdtur

D) Deer

D) 3%

D) 37

D) ¢ W

D) 1°* May

D) SETTE

D) Lahagad

D) . JTehTARIEAUT

A) C.Vidyasagar Rao B) V.K.Shashikala C) Devendra Fadnavis D) K.Shankaranarayanan

FHTeahT AL SHIVTA 3T ?

A) STAE B) =18 C) TR
Which is the capital of Karnataka?

A) Bengaluru B) Chennai C) Hyderabad

13

D) WIUTe

D) Bhopal

——
| —



91.

92.

93.

94.

95.

96.

97.

98.

TrersrEdt st feesht arsrlt Sheft i 2

A) 9% Tl B) ? AR C) ¢ AR D) 2R UglAt

Which day is celebrated as the Shiv Jayanti?

A) 14 April B) 2 October C) 28 November D) 19 February

FHR ATATATATHTS! WIATAUR! Tret I AT HIEA 7

A) iR B) SIeh C) WA D) SRR
Which of these do you use to stop a car?

A) Gear B) Brake C) Mouse D) Wiper
TERTeT foreawft whiur eimga ?

A) TIgehid Tt B) GftR gidiar

C) e ara= D) <dg TwEUTEd

Who is the Finance minister of Maharashtra?

A) Chandrakant Patil B) Sudhir Mungantiwar

C) Vinod Tawade D) Devendra Fadanvis

A enfon erime ufg=amdicr ieaweht s fordt gget

A) &R B) &0 C) uR D) 4o
What is the sum of days in the month of July and August?

A) 92 B) 60 C) 59 D) 50

ITEIE —U— 31T HIVTAT FEUTATA ?

A) WTatE B) Ve (ISUa{™ ~ C) HTewt mieht D) WETeHT Fet
Who is the Shahid-e-Azam ?

A) Bhagatsingh B) Lala lajpat Rai C) Mahatma Gandhi D) Mahatma Phule
WRATATEA VT TSATd ATBAE AR ?

A) JeaIa B) STHY TP ORI D) TSTEAH
Name the Indian state which has desert?

A) Uttar Pradesh B) Jammu Kashmir  C) Goa D) Rajasthan
WRATAA SATRRA Tdid WS T ShivTd ?

A) Than B) HERTEE C) T D) JcRUag
Which is the largest state in India?

A) Goa B) Maharashtra C) Rajasthan D) Uttar Pradesh
T R ATEd ?

A) T@ B) h® C) e D) germ

What grows quicker

A) Nails B) Hair C) Tree D) Boy

14

——
| —



99.

100.

FrEaicTedl Uehl HETd Tohelt WebTg, STHATd ?

D) go

D) 10

D) &t

D) Wrestling

A) 2% B) R C) 23

How many players are there in a Football Team?

A) 11 B) 9 C) 13

ST TelTd Tk W ShIuTdT ?

A) Tehere B) Gt C) SRietiaiet

What us the most Popular sport throughout the world?

A) Cricket B) Football C) Volleyball
( ]
L~ J
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